BERID S DRERE No.45 (2022.6.13H8E) #oHtv  6/27 (B)
EIER7 4+ —ALIEZH 5 — https://forms.gle/4YTUDGB8ZYtLESreA

TA—LNDLEBICHE>TVWET, BANELGLLTHEEZA-AILX, BRELER
FIHTHEEELTLESL, SEDSEIZLET,

fifan

1) F£XY, ATEELEDIE, 7+5+4+2=18 (N)

BTTFEUEZDMNT AT, FEHLUEZDON11+1+3=15 (AN) ZDT, kDDA,
18—7+15=26 (AN)

2)
® BTHEHEL, CTTE = 11A 20 km BAE 30 km K | 210480 =290 (F9)
BCHIDEREE, 66—35=31(km) = EE 370M | 30 km AL 40 km %% | 210+ 80x 2=2370 (H)
® BTE#HL, DTF#HE = 1A 40 km BL_E 50 km i | 210+ 80 x 3=450 ()
BD FID#E#EE, 92—35=57 (km) = EE 530 | 50 km BAE 60 km 7% | 210+80x 4 =530 ()
@® BTHREL, ETTHE = 3A 60 km LAk 70 km 5K | 2104+ 80x 5=610 (M)
BE RIDBE#EE, 103—35=68 (km) => EE 610 | 70 km LLE 80 km k7% | 210+ 80X 6= 690 ()
EoT, k2L, 80 km LAk 90 km i | 2104+ 80x 7="770 (M)
370 11 +530 X 1+ 610 X3 =6430 (F9) 90 km B4k 100 km i | 210+ 80 x 8=2850 (M)
(3) EEHY500 HLLE 700 FEAEE 2501, 50 km BLE 80 km iDL %, AITBIClD
SHSEOERIEORD L5125, KiEEHETOR, 51 35
ANSC, B5D, B#M5 E FTDARDT, kddAET, clee | a1
5+414+3=9 (A) D| 92 | 57| 26
E|103] 68|37 11




